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QUESTION 1

Two 100 GB space-reserved LUNs and one 100 GB non-space-reserved LUN were created in System
Manager in a 1 TB volume.

In this scenario, how much space has been allocated for writes to the three LUNS?

A.1TB

B. 300 GB

C. 100 GB

D. 200 GB

Correct Answer: D

Reference: http://ppbwiki.rz-berlin.mpg.de/uploads/Intern.NetApp/semg.pdf

QUESTION 2

A storage administrator has a single-node FAS cluster. The administrator wants to add a second node to
convert the FAS storage array into a switchless cluster.

In this scenario, what would the administrator do to accomplish the task?

A. Add a new AFF HA pair and replace the existing FAS.

B. Add a cluster interconnect switch and a second FAS of the same model.

C. Add a new single node AFF controller to the existing FAS storage array.

D. Add a new single node FAS controller of the same model.

Correct Answer: D

QUESTION 3

A 2-node switchless cluster experiences a node failure.

In this situation, which LIF automatically migrates to a different port?
A. SAN data LIF

B. intercluster LIF

C. NAS data LIF

D. node management LIF
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Correct Answer: C

Reference: https://thinksystem.lenovofiles.com/help/topic/network_management_guide/M_CF7DA10EOAF9-4CE1-B44D
-8446361A158F _.pdf

QUESTION 4

Which three tasks are SVM administrators allowed to perform? (Choose three.)
A. Configure name services.

B. Configure an aggregate.

C. Monitor jobs.

D. Configure data protocols.

E. Create a LIF.

Correct Answer: ABC

Reference:
https://library.netapp.com/ecmdocs/ECMP1368704/html/GUID-4CD73656-6E82-4F77-84F2FBD148932049.html

QUESTION 5

To which three objects on an ONTAP 9.3 cluster would you assign a QoS throughput floor? (Choose three.)
A. a volume on FAS

B. a LUN on AFF

C. avolume on AFF

D. an SVM on AFF

E. afile on AFF

Correct Answer: BCE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-perf-mon%
2FGUID-77DF9BAF-4ED7-43F6-AECE-95DFB0680D2F.html
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